% 4 5 (5 5 KBR)

B TEB R NG &

S 7 £ 6 H 13 H

NI R E R

Bt
g
AN
8

mEAL B R F

SF 7 FEBFEIESEICONT, ROLBYIHELET,

1 I A (BEEESERE & 120, 000 M)

2 X H (BBEEDHEIHE & 0 M)

3 ™A FEE IR EINESROELER




SH7EE BBEDHE NWXBES

wmE4: B

=
1 A
H E & % B BA
BEESHE (O) 120,000 M| HHIZATE
2 X as]
=R~ & B wm B
B I 1 S - ¢ 0 H
i & # 0 M
P T
R 0 M
s OBt B A B 0 H
& g 0 M
£3512%8 (D-Q) 120,000

X1 fHRIEE ZLIZEHO R L T ESV,

X2 ZEB|SEICERPECTEEIL,

COEEBEAIELTLLEIV,

(EBIEHEBA (w4 T R) OBEFREOLETDHY A, )




BWHEUOAR
(HEOEAIE H%%B)a(ﬁ%ﬁﬁ%%ﬂ)@“é TIE%E =
z &




